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I 2x mwn: consequences of case outlined in 1x if one of the 11 dies before 30 days are up
a  yw " ask an outsider to accept mvm corresponding to his, saying:
i if:Iwas Rnv, your m7m begins immediately
1 then: they complete process at 30 days as above, then 1 1710 129 brought by original 9> at 60 days
ii  butif: I was 10V, your m’m begins in 30 days
1 then: the nkmv 129p brought pavn (not eaten) and rest follows as above
b ®m1 j2: no one would agree to join him; rather
i atday 30: he brings an ny and gyyn nxon
1 saying: if I was &nv, the nron is for my j27p and the N5 is a nam
2 but:if I was 7100, the nrvn is pavn and the n% is part of my obligation
ii  at day 60: he brings a full n7nv 129p
1 saying: if I was &nv, this is my n7nv j29p
2 but:if I was 10, the first n%1» was part of my obligation, and this n%w is a nam
¢ counter (yw11 "1): he ends up bringing his n1nv j27p in halves (nonetheless, n'non rule in accord with xmr 12)
i Note: yv1 "1 knew that his counter wasn’t a valid argument; he said it to test the students’ analytic skills
II  ’a mwn: a 91 who has a pav of being a full y71¥n and a nn XNV pav
a  (note: all these mnYin aren’t just to remove hair; they are a mxn and must be done with a 7yn)
b first: he shaves after 1 mym-unit (e.g. 30 days) (for nyax - bringing n»1a% and 910 nron and nnna %)
i reason:if he really is a y71¥n, the birds are obligatory, the 91pn nron is paon (and buried) and the n%y is nam
1  if:heisn’t a ymen, the birds are done outside (no nya P5n); if he’s really Xnv, the 91pn nrvn is obligatory
2 if: heis neither, the birds are done outside, the 91n nron is buried and the n%y is part of his obligation
(a) note: the nWR (of either Y71¥n or XNV ) can be brought conditionally, as per w™; if not DWR, NaT MMHVY)
then: then after 2 myn-units (with 9yn nkon and nnna n%y) and may now eat DWTp
d  then: he shaves after 3 mn-units (with 9wn nron and nnna n5y),
i reason (for both b and c): he no longer needs birds (if he was y11n, already done)
il in any case: he needs yyn nron (either for ny7x or kMY NNYn)
e  then: he shaves after 4 myn-units (n7nv NN%In) and then mm is lifted
i reason (for d): if he was never Xnv or VoM, the earlier Ny was his obligatory one, this is nam
ii  if he was &nv or vomn (or both), the earlier N5 was a nam and this is his full 127p
iii reason: nnon is only trumped by nkmv or ny7x when they are 'R, not pav
f  Variations:
i If: there was only a nRmv pav but a certainty regarding ny1x — he eats nw1p after 8 days and is done after 67
ii  If: there was only a vomn pav but a certainty regarding nXmv — he eats 0*w1p after 37 days and is done after 74
1 Reason: after 27 shaving (day 37), perhaps he was v9mn and is only done with ny1%, must shave after 7
(day 44) for nkm and wait another 30 to complete it
iii If: there was no doubt — he was certainly Xnv and v9mn — he eats D*w7p after 8 days and is done after 44
I Questions posed to »”awy about combining shaving of 11 and y1¥n
a  Question: can a single shaving count for 197V nn%n and y71¥n nnon?
i Answer: no - one is to remove hair (1°11) and one is to generate more growth (»712n will shave again in 7 days)
b Question: can a single shaving count for n9n1v nn%mn and Y70 nn%n #2 (after nyaw n1av)?
i Answer: no — one is before 77071 (»11¥n) and the other is afterwards (1°11)
¢ Question: can a single shaving count for nkmv nn%n and y7xn nnn #2°?
i Answer: no — one takes place before ny7av (»11¥n) and the other — afterwards (1'11)
d  Question: can a single shaving count for nkmv nn%mn and y7xn nnn #1°?
i Answer: they can never count as one, since a 1710 71 is removing hair, a Xnv 9’11 shaves after n%av
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